
26142



2







1

2

3

4

5

6

7

8

9

10

11

12

14

16

17

Quantity

1

1

1

4

3

1

1

1

1

1

2

1

1

1

2

Smoker Cabinet Assembly

Smoker Door

Burner Tube Assembly

Smoker Leg

Damper

Heat Indicator

Heat Shield/Wood Chip Pan Support

Wood Chip Pan

Windshield

Water Pan

Cooking Grid

Grease Cup Holder

Manual

Door Handle Kit

Carry Handle

Owner’s

26142G

26142CA

26142DR

26142BURN

3A01000

3A02000

26142G-07

26142G-08

26142G-09

26142G-10

26142G-11

26142G-12

26142G-14

26142DHK

3A10000

44248G-16

Quantity

Assembled Components

Primary Components

1

3

3A

3B

15

15A

1

1

1

1

1

1

Cabinet Assembly

Burner Assembly

Burner Tube

Burner Igniter Electrode & Wire

Control Panel Assembly

Hose, Valve and Regulator Ass'y

26142G

26142CA

26142BURN

26142BURN

26142BURN

26142G-15

26142HVR

Quantity

Assembled Components

13

13A

13B

13C

13E

13F

13G

13H

1

12

4

13

3

3

1

1

Master Hardware Blister Card

1/4-20 x 5/8" Bolts

1/4-20 Flange Nut

#10-24 x 1/2" Bolt

#10-24 Hex Nut

#10-24 Lock Washer

Zip Tie

S-Hook for Hose

26142G

26142HDW

5

11

1

17

10

6
16 8

15A

7

3

2

15

12

9

4



blister card

right



Four

Then place the Control Panel in place as shown.

,2 inside the cabinet and 2 outside the cabinet,



Step4：
Place the Wind Shield as shown-But, do fasten in place.not

Step 5 ：

Locate:

Install Burner Tube

through the hole in the wind shield and

which is already attached to the burner tube,

Burner Tube Assembly [3], (6) #10-24 x ½” bolts [13C].

: by sliding tube end opening

the gas valve and

attach the BACK END of the Burner to the welded bracket in the

Cabinet, with one bolt. Refer to Fig 5A.

Slide the Wind Shield over and onto the middle of the

Burner Tube.

Turn the Cabinet upside down and attach the “L” shaped

burner bracket to

the Cabinet with (1) #10-24 x ½” bolt into the nut welded to

the bracket. Refer to Fig. 5B.

Pass the loose end of the Igniter Wire, which is attached to

the Burner Assembly, back through the opening in the

Windshield and push the wire end firmly into the connector on

the Gas Valve, Refer to Fig. 5C.

Now, turn the Cabinet Assembly back to right side up, and

fasten the Windshield in place with (4) #10-24 x ½” bolts as

shown in Fig. 5D.

Procedure

onto

Fig5AFig5A

Fig5BFig5B

Fig5CFig5C

Fig5DFig5D

Procedure:



they



Locate:

Note:

Tools Needed:

Procedure:

Door handle kit [16].

Door Handle Kit [16] consists of (1) Door Handle, (1)

Latch, (1) ¼-20 Lock Nut.

Wrench .

Note that the Latch has a small outer Tab that fits

into the curved slot of the mounting plate welded to the inside

of the Cabinet Door. Push the Threaded end of the Door

Handle through the opening from the outside of the Cabinet

Door, facing down, refer to Fig. 8A.

Slide the Latch onto the threaded end of the Handle, on the

inside of the Door, and fit the Tab of the Latch into the curved

slot of the mounting plate. Thread the ¼-20 Lock Nut onto the

threaded end of the handle and tighten the Lock Nut until the

Handle can still turn easily. Refer to Fig. 8B.

with the handle

Fig8AFig8A

Fig8BFig8B





Locate: The two Cooking Grids [11] and the Water

Pan [10]

Locate: The Grease Cup Holder [12]

As empty soup or vegetable can should be attached
to the wir prior to use.e









one hour
approximately 300 degrees fahrenheit



6. To light unit, push in and turn the Gas Control

Valve Knob counter-clockwise to the HIGH setting.

7. You will a hear a : CLICK”sound which is the

igniter sparking against the Burner to light it. If the

Burner does not light at once, repeat these

instructions – because it may take time for the gas to

fill the burner tube before igniting. If the Burner

does not light within 5 seconds,, turn the Control

Knob to the OFF position, wait 5 minutes before

repeating the steps again. If the burner still fails to

light, try match lighting, using the instructions

noted below.

“



tray

tray







21



22



23



Part Number:26142-14 Aug.2012


